HONOR CODE

I pledge to follow the Honor Code and to obey all rules for taking exams and performing homework
assignments as specified by the course instructor.

I understand that when asked to follow the Honor Code on exams or homework assignments I must follow
the rules below.

1. When following the Honor Code a student must work entirely alone on exams.

2. When following the Honor Code a student may not share information about any aspect of the exam with
other members of the class, other faculty members, or other people who has not already taken the exam this

year, or its equivalent in future years.

3. When following the Honor Code a student must direct all questions concerning the exam or homework
assignment to the course instructor or teaching assistant.

4. When following the Honor Code it is the student’s responsibility to obtain clarification from the
mstructor if there are questions concerning the requirements of the Honor Code.

5. When following the Honor Code a student can only access websites related to ODU (such as
Blackboard, etc.) while taking the test.

6. When following the Honor Code a student cannot access, neither ask for help, from websites such as
coursehero, chegg; and any other similar website, while taking the test.

I understand that failure to follow this Honor Code imply that the professor will immediately report my
case for academic dishonesty to the ODU Office of Student Conduct & Academic Integrity.

- H
Student Name: Toon A aTheasen

Student Signature: _/,/f _/ ,"f"f@"’:‘”

Date: |/ !/;,'Mi/ 2018
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